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QUESTION BOOKLET

This question paper contains 170 questions. / $8 5= 9 T170TH 2 |
All questions are compulsory. / weft g AfEmi E | .
One question carries half mark only. / T 937 o TeTu shaet 14T 37 2 |

Maximum Marks : 85 JAThay 37 : 85
Time : 2 Hours auy : 2 g
1.  An instrument used for ranging is —

(A) Optical square (B) Line ranger (C) Clinometer (D) Pedometer
H TR ST B

(A) AR TR (B) TS =R
(C) FATEAHI (D) Toenfie
Which is used to pre

é)are free hand sketchinI% ? _
. .(\) Sketcll pen (C) Rotarypen (D) Pencil and eraser
qerdatd Tohdl ST | feheehT IU=IT fohalt AT 8 7

(A) B (B) AW (C) Tk (D) ufaeT 3R W

Which is not used for fixing drawing sheet on board ?

(A) Ink pen (

(A) Clip (B) \Thread \(C) Drawing pin (D) Adhesive tape
R greT 3fie foher ot | Topmrent SuamT <€ fepan SiraT 2 7

(A) o (B) ¥s ©) gEifm (D) weefE

The movable parts that are cleaned and lubricated comes under the category

of

gA'i Field work EB; Office work '

C) Designing work ' (D Ca\re 'arr\ld adllrl\stment qf instruments
d IARHM Yol S AT fohT ST § 3R g foh S @ fohg =hife o St=mia 3 & 2
(A) HIes 7% (B) ifE
(C) fesmefim =k (D) 39N T RIS TUT &G
The curved shape of earth 1s taken into account in -

A) Geodetic survey B) Plane survey

C) Compass survey . ~ (D) None of these
9f} 3T Tl STRR 3l e H &I | Tt ST & -

(A) TrEfes adem (B) i Feigul
(C) <HHITH Heequr (D) 37 § IS &

In enlarged scale, the RF is

foreaTid @hat H RE % -

(A) 1:5 (B) 1:50 (©) 1:70 (D) 2:1

The surveying used to determine additional details such as boundaries of

fields is called ' _
A) City surveying gB% Location surveying

N e ke F SN b
(A) T Taerm (B) feufa- LELL
(C) YT Tl (D) TUTCATHIcIeh FeerT
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10.

11.

12.

13.

14.

15.

16.

If an angle is less than 90° it is called
(A) Acute angle (B) Rightangle (C) Obtuse angle (D) Reflex angle
el feelt <hIoT 1 WTY 90° T Y B A, I8 HeelTdl B -

(A) =T I (B) HHHI (C) == (D) Fghv

If “X” 1s the smallest division on the main scale and “n” are the number of
divisions on the Vernier, then the least count of the vernier is
afe “X”g@qﬁnﬁwwﬁeﬁam% IR “n” IR T 9T Shl TAT &, o IR
T ITIAI AT R
(A) X+n (B) X—-n (C) Xxn (D) X/n
The angle is measured in
(A) Second (B) Minute (C) Degree (D) Metre
1 HT9 TehaT 1T 2 -
(A) UHvSH (B) fued (C) 3=y (D) e H

The instrument attached to the wheel of vehicle in order to measure the

distance travelled is called

(A) Passometer a]?(% Pedometer ) Odometer (D) Speedometer
%%m«‘:n%:r%ﬁti%vﬁ SIS 7T 3YHTUT hgATd]

(A) trraﬁwﬂa (B) fuenfiex (C) SAerfier (D) @cﬁgﬁa

The plan of the building drawing is prepared at the level of

(A) Basement (B) Door s111 (C) Window ssill (D) Ventilator sill
feret yor o ot <6t g1 fopd e Wﬁaﬁﬁaﬁ’[% ?

(A) é?lﬁ?: (B) c@™ & qscfnci

(C) Tagehl i ggaiial (D) dTdRH gl

A chain is made up of mild steel or galvamzed iron wire of diameter

Th SIS ST Bl § g T 1T TeaA13se g i shl freeht =34 8ia1 & :

(A) 1 mm (B) 5 mm (C) 4mm (D) 1cm

The method of Surveying adopted when the area is less than 260 km sq. is
(A) Plane surveying (B) Chain surveying

(C) Compass surveying (D) Geodetic surveying

TS SR 260 I TohHT T 1 81 a1 Haeqor H TR S ool fafer 2
(A) THHIFU  (B) =AHG@U  (C) HH™ Haew (D) FEefes wdso

The length of Engineer’s chain is

(A) 20m B) 33 feet (C) 66 feet (D) 100 feet
i 51 1 e A 8- )

(A) 204 (B) 33@2 (C) 66 (D) 100 ®ie

Each metric chain is accompanied by

(A) 5 Arrows  (B) 10 Arrows (C) 15 Arrows (D) 20 Arrows
e HEIeh o H o B & -

(A) 5dR (B) 10dR (C) 15dR (D) 207TR

Code No. : C-487/2018/Series-A 4



17.

18.

19.

20.

21.

22.

23.

24.

A 30 m chain after measuring a distance of 300 m was found to be 6 cm too
long. The true length of the line is
(A) 300.3m (B) 300.6m (C) 2994 m (D) 300.00 m

Teh 30 1. <h1 =9 300 HY. hi < 1 79T T o6 GvETd 6 9t 3Afes ot i
TS | 39 W] sh arfeieh OIS @ -

(A) 3003 (B) 300.6F  (C) 299.4% (D) 300.00%

The distance measured at right angle to the chain line from the object is
known as

A) Short offset B) Long offset
C) Oblique offset D) Perpendicular offset

&R T = AT S AU 0 AT 7T gl Heetre @ :
(A) e 3MHAC  (B) M 3wae  (C) fodie 3Afwde (D) o=t 3Awae
When the chain line encounters river
A) Chaining is obstructed but ranging is free.
B) Ranging is obstructed but chaining is free.

C) Both ranging and chaining are obstructed.
D) Both ranging and chaining are free.

TSl < TS e ol HTHAT

(A) = Sierd gielt 2, o S qer gan g |

(B) Waﬁmém%?%ﬁﬂ%w@?ﬁ% |

(C) ¥ men s A1 £

(D) IS e = gt e g # |

The horizontal distance on the sloping ground is calculated using the formula -
forelt e He™ T &fast gl <hl 1O H e 9 1

(A) Ixcos© (B) IxsinH (C) Ixtan 6 (D) IxcotH

Direct ranging is 1gossible only when the end stations are
EA; Close to each other gB% Less than 30 m apart only

C) Mutually inter-visible D) Not inter-visible
& ST 999 g S |
(A) TER T & | (B) 30 Hiet & HH HrEet T Bl
(C) 31maE o 3oy & | (D) TR TE 2 |
Obstacle for both vision and chaining is occurred when it crosses a
(A) Building (B) River (C)_ Pond (D) Sill

399 AR =T HI H G BT & 59 I8 hid Hidl & Toh -
(A) WaT i (B) & & (C) d&@ sl (D) <&l i

When the measured length is less than the actual length, the error is known as

A) Positive error B) Negative error
C) Compensating error . D) Instrumental error
Wmﬁ@pﬂws STETeeh TITTg | H Bl & al (e Healdl @ :

(A) SR AR (B) FEH AR (C) afqufd e (D) IR
Cross staff 1s used for setting out

(A) Acute angle (B) Obtuse angle (C) Straight angle (D) Right angle
G 2% h1 SART TohaT ST &

(A) = i fHfése o & fore (B) 31fires =iy ffése &t o forw
(C) e =hivr fafdse & 6 ferw (D) wmehivT ffdse &t o forg

5 Code No. : C-487/2018/Series-A



25.

26.

27.

28.

29.

30.

31.

32.

33.

The beginning and end point of the survey lines are called

A) Main station B) Tie station
C) Stations . . D) Subsidiary station
TS o T q1 3l foig waard &

(A) TERIH  (B) R WIH (C) &IH (D) &R WA

The sum of three angles of a triangle is

A) 360° ~(B) 180° (C) 90° (D) None of these
FrenTor o i1 IV HT AT 2
(A) 360° (B) 180° (C) 90° (D) 3§ IS &

The longest line in a chain survey is known as o
A) Baseline = (B) Check line (AC Tie line (D) Main line

eI § TaY AR AT shaadTd]
(A) MERART  (B) =whamrsd  (C) Te@=A (D) q&A A
A line joining some fixed 1goint on the main survey line is calleda
(A) Base line (B)_ Check ling () Tie line (D) Main line
H& T3 T FS e feg3tl i SiigH aretl Arsd haard g :
(A) MERART  (B) =homsd  (C) TE@RA (D) q&AArH
Chain surveying is most suitable when
A) area to%e surveyed is small.
B) ground is fairly levelled and open with simple details.

C) plans are required on a large scale.
D) All of these

AT A 3Tk ITYeR Bl & I
(A) Td foran ST oTeTT &3 BIT & |
(B) ;gc'i %I TS qE W FHAA ST AT 8l TAT AT Iawor 3 912 Gel &l |
(C) & YU W T <l 3TTaeehdT & |
(D) A @t |
Measuring lengths by chain or tape and direction by angle is known as

A) Chain survey B) Plane table survey
C) Compass survey D) Levelling

3T 24 < GRI TTEEITSAT T <hIvT G {CSM <1 HTYH Shgelldl &
(A) =A@ (B) wHIAEA (C) HHEE (D) HHAIH
If the fore bearing of AB is N 50° - 45' W then the back bearing of AB is
Ife AB =l 310 ferIflr N 50° - 45' W ds AB ! uedl feafin &
(A) N50°-45'E (B) S80°-00'W (C) N80°-00'W (D) S50°-45'E
When tlvs[lo lines meet at a point, the sum of both interior and exterior angles
is equal to

w%w%@wﬁgmﬁaﬁ%m FATAReh AT SITET <hIUTT <6l AT S BIT & -
(A) 90° (B) 180° (C) 270° (D) 360°

Which of the following method is more accurate in plotting the compass
traverse ?

gA; Parallel meridian method B; Included angle method

C) Paper protractor method D) Rectangular co-ordinate method
SHETE <3RS | 70 5 | A €1 foly 31fres ik g ?

(A) TuTaR AT fafer (B) IF=aifed shivr fafy

(C) U grgeren fafer (D) 3TIdTehR FHewmes fafy

Code No. : C-487/2018/Series-A 6



34.

3S.

36.

37.

38.

39.

40.

41.

Which survey is most suitable for filling in the various details between the
stations previously fixed by triangulation ?

(A) Chain survey (B) Compass survey

(C) Plane table surve (D) Leyvelling
ﬁwgm@ﬁaﬁiaésﬁ%aﬁaﬁﬁmﬁawﬁﬁnﬁ%mﬁma&m
ERRSAY

(A) T3 T4 (B) M@ (C) WHEA T (D) U

Metallic Tapes are made of -
(A) Steel (B) Invar (C) Cloth & Wire (D) Nickel

20 1 Bt B
(A) =i &t (B) TTER &I (C) HusaAaRH (D) et i

The angle between the reflecting surfaces of a prism square is

Teret TSrom e 31 TRrard |agl < HE w0l

(A) 30° (B) 45° ©) 60° (D) 75°

In a prismatic compass, the 0 of the graduated ring is located at .
(A) North end (B) South end (C) Eastend (D) West end
Toh TISHTesh v | 31mferd foT A1 0

(A) SR TR®  (B) gfamfi i@ (0) qgmw (D) ufgadt IR =

Plane table is centered over a station with the help of

(A) Spirit level (B) Alidade

(C) Trough compass (D) Plumbmg fork with plumb bob
o ot fopet W W e <t merrar @ Sisd g g

(A) foufe s (B) UfeIss .

(C) T% HHE (D) W Sd o |1 AT Bl

Which method is used for locating details from a single station in plane

table survey ?

(A) Intersection (B) Traversin C)_Radiation % ) Resection

gﬁ;%ﬁﬂﬁﬁﬁ@@?ﬁﬁ ! Iafrd HH ° S @@ 9ty sy
?

(A) "f=ses  (B) gafdn (C) faferro (D) TeEwRE

At equator, the amount of dip is —

fogea @ Afd 1 Ho g B -

(A) 0° (B) 45° (C) 60° (D) 90°

The lines passing through points at which the magnetic declination is equal
to at a given time are called

(A) Isogonic lines (B) Agonic lines (C) Isochmc lines (D) None of these
3‘—[%@ W@ﬂﬂﬁﬁgﬁ%@m el W grereh fegama fopedt feu o 9= § s
&Il 8, ShaalTdl & :

(A) e e (B) Uifeh @TE

(C) ASTFATSh AT (D) 0 9 HIs T&l

7 Code No. : C-487/2018/Series-A




42.

43.

44,

45.

46.

47.

48.

Bessel’s method of solving three point problem is also known as

(A) Trial and error method (B) Traversing method

(C) Radiation method (D) Graphical method

21— foig wHE =1 g1 U <hl St ohi farfr w1 718 i her ST -

(A) gret T U fafer (B) g fafy

(C) tfeuzm fafy (D) TTfthehet farfyr

The circle passes through three ground points, in three point problem is called
(A) Concentric circle (B) Eccentric circle

(C) Great circle (D) Circle

Fr—feig e @ g7 i et feigan & o =, SeEcar g -
(A) 5@ IA  (B) IHPAE (C) Fegd (D) T

Where do you set up the plane table to collect the details along the road ?

(A) Centre of the road (B) Left side of the road
(C) nght side of the road (D) Along anyone side of the road
o 31T TIatoT T3g i o foTT 3119 wiF <o i Hal W HE Bl ?
(A) ﬁ-sfé;mzrqt (B) TS & &8 Th
(C) TS qE TH (D) Te o fopeft off wsp T
While plotting survey map the colour used for the railway double line is
(A) Yellow (B) Burntsienna (C) Black (D) Red
T HHTA M@ Hd T93 o7 S9el AA18 b ToTC S Ul &
(A) e (B) sHefawm  (C) whrem (D) &

The length of perimeter of a circle with radius r is

r’ =3 ATt g <l aRiy i T 2

(A) mr (B) mr2 (C) 2nmr (D) 2 nr?

A freely floating needle slightly gets inclined to the horizontal anywhere
expect on the equator. It is called

(A) Declination (B) Dip

(C) Local attraction (D) Secular variation
Q%ﬂ?ﬁgﬁf@%?ﬁg‘s‘ forera o6 3Tt el @ ot &fas | UieT 37Ha Bt 7, I8
FHEAT R :

(A) Tesurd (B) Hfa (C) TR 3TehNuT (D) refehiiereh diarcH
Local attraction at a place may be due to

(A) Water bottle (B) Human hair

(C) Current carrying bare wire (D) All of these

Tepeft Toret TR T STTeRNYT BT SHTuT

(A) T dred (B) A I

(C) I =Tgeh AT IR (D) 3ot

Code No. : C-487/2018/Series-A 8



49.

50.

51.

S52.

S3.

54.

5S.

56.

An instrumental error in compass survey is because of

(A) Inaccurate levelling

(B) Variation in declination

(C) No counter weight provision to contract dip

(D) Local attraction due to bare current carrying conductors
HETH T T 3T hl J[E T BRI B

(A) 3ITIG FHAATRLI

(B) 1<k

(C) =ifa 1 Tl A o foru fopet wfawm =1 sTaem 7 81 |
(D) 3T 9T ATEeh FTCThI oh HRUT T TR0

In 1\lzvhich1 q})ladrilateral all the four sides are equal, but the angles are not
right angle
%ﬁ% Re%tangle (B) Rhombus = (C) Trapezium (D) Square
TS | Tft =R ST SR B &, T ShIvT HIhIV el B 7
(A) IFA®HR (B) ¥HIgYs  (C) THE (D) FIHR
The two point problem and three point groblem are typical cases of —
compass surveying

g; chain surveying .

C) plane table surveying D) contouring

—feig wmEI 3TN B -Torg wwean fafimse Ik

(A) = gaeu (B) SHTTH FS&A0T i

(C) o o TaeTuT (D) TR Hi

The number of hectares in a square kilometer is

Teh a1l fepeteiiet # fehe B gﬁﬁ 87

(A) 1 (B) 10 (C) 100 (D) 1000

The number of acres in one square mile is

Teh 91 HicT | foha Tshe BId @ ?

(A) 10 (B) 24 (C) 480 (D) 640

Tthfe %impsons rule for determination of areas is used when the number of
offsets is

(A) 2 - (B) 3 (C) odd (D) even
STHe T i H e 4w <1 ST foha Sirat & Sie 31Thde hl 3. B
(A) 2 (B) 3 (C) T (D) ¥\

In case of planimeter the circle round the circumference of which, if the

tracing point 1s moved the wheel will, simply slide without rotation on the
aper without any change in the readln% is called

%AI)) ) _zero error circle (T]?(% zero circle

N N

% UL TR Shaet ThdT & ToHT aT3aTeh B T o :
(A) 3TTYR I HEAd 3 | (B) H&H BT I HedATd & |
(C) I A I FgAM 2 | (D) ¥ I e & |

For a well conditioned triangle, no angle should be less than

Tk gErse st # ohig ot shivr o A Sier €l g =R -
(A) 20° (B) 30° (C) 45° (D) 60°

9 Code No. : C-487/2018/Series-A



57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

The capacity of one gallon is

Teh et i AT B -

(A) 5.00 ltr (B) 4.541tr (C) 4.121tr (D) 6.12 Itr
One mile is equal to

Toh Uit S &

(A) 1.609km (B) 1.225km (C) 0995km (D) 1.750 km

For indirect ranging at least number of ranging rods required are

ITTce] U o foTu 3Trargres TN Tt <hl ohH 8 1 ST & -

(A) 3 (B) 4 ©) 5 (D) 6
Comparative scale is a pair of scale having a common
(A) units (B) RF _(C) lengthofscale (D) least count
TATCHeh IHTHT Teh TUTH 1 IH & W Teh 39
(A) TS TR | (B) RFZ? |
(C) Tohel ETS Biell € | (D) JcTdHieh Bl € |
The highest point on a road surface is called
%A) crown (B) camber (C) gradient (D) berm
TS ! Idg W 3=dq 1%@ haTdl

(A) TS (B) =R (C) ufete (D) &% (Th)

The theodolite method of setting out a curve involves
gA; linear measurements only ng angular measurements only

C) chain D) None of these
Tk ol TeRd i 6l Rregiemse fafa g g 2 -

(A) e T AT (B) Herel Hivfie qr
(C) =+ (D) & g &

True bearing of a line is also called
A) Trunnion axis (\(B) Azimuth (C) Transiting (D) Latitude
fgﬂﬁ AT <hl IRETIeh TS bl I8 Y hagl Ja1 2 -

(A) g FE  (B) TNRY (C) gt (D) 3TeTT

Balancing of traverse is done according to the
A) Transit rule Prismoidal rule
C) Trapezoidal rule D

f<f2ieh <l Tt $Hoh STET fohal SITaT & -

(A) e e (B) Befafem (C) wve= frm (D) Tomqes fem
The included angles of the traverse are measured

g\A) clockw{i\g&\: (B) anticlockwise (C) either way (D) None of these
ferieh o SFfHTad ST AT BIAT S

(A) gfwred  (B) amHmEd (C) =8+ (D) T ¥ HIE T

The face left position is also called -
EA; Telescope inverted ng Telescope normal

Simpson’s rule

C), Telescope reversed D) None of these
EIEI :

(A) TAr=hig fomde (B) <efiehiy A=
(C) eefienia gfaafda (D) 3T & 1S T&

Code No. : C-487/2018/Series-A 10



67.

68.

69.

70.

71.

72.

73.

A theodolite in which the telescope can be revolved through a complete
revolution in a vertical plane is known as

(A) none-transiting theodolite (B) tilting screw

(C) clamp screw (D) None of these

T RREiese e Sefiehid &l T Sl aa § U 9uF 9 gfa feam s
Hhdl & HESIdI & :

(A) AR-gifen Rreetee (B) =g

(C) wo TR (D) ¥ & g &

‘Shift’ of the curve is equal to

sk T “RTRe” ST BT & ¢

(A) L/6R (B) L/24R (C) L2/6R (D) L2/24R
When several contours coincide, it indicates —

(A) avertical cliff (B) avalley

(C) aridge (D) an overhanging cliff
STel 3Feh HHTod @S |t & al 98 s s g -

(A) T SH-TL =M I (B) T =T I

(C) T Heh (D) U JeTralt @t agH !
In route surveys, the most suitable method of contouring is —

(A) by square (B) by radial lines

(C) by cross sectlon (D) by tachometer

T -0 < FeT § AT hl T S0 ol v -

(A) I g (B) Fr=a-t@naii g

(C) IITII-HIE G (D) ThIHIET grRI

The operation of turning the table that all the lines on the paper are parallel
to the corresponding lines on the ground is called

(A) levelhng (B) contouring (C) setting (D) orientation

9 <l YU I TiETed SEH IR W el A1 ad WAl gefud oEa 6

G & | ShadlTdl & :

(A) EHASeR  (B) HHi=ed (C) dfem (D) 3NRETH
The rise and fall method of reduction of levels provides a check on
(A) back sights (B) fore-sights
%‘(;)F‘mtermedlate sights D) All of these
o A i 1 I 3T a <hl farfer frrr wgm =6t &

(A) wwE I H (B) smgEHd
(C) wreAfieh o3 | (D) SWied Toft
The method of irrigation by lifting water from lower level is called

A; lift irrigation B) flow irrigation

C) surface irrigation D) None of these

HH\ﬂMM{é\ﬂmﬁB‘ﬂT&lﬁW@ﬁ’ ﬁﬁf‘awﬁﬁ%: ‘
(A) e fd= (B) WrfEE (C) sf=E (D) 6 a5 T8
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74.

75.

76.

77.

78.

79.

80.

The correction for sag is —

(A) always additive

(B) always subtractive

(C) always zero

(D) sometimes additive and sometimes subtractive

Bl (sag) LNIBE )
(A) TUSI AT BT 8 | (B) EHII KU BT & |
(C) UM EA1E | (D) it FrTTeHeh 3T et SHoTTeHsh BT 2 |
In an internal focusing type of telescope, the lens provided is —
A) concave B) convex
EC; plano-convex ~_(D) plano-concave
Teh AR BT Tehl o S eehd H oiF T BT &
(A) 3HAddd (B) 3o ©) FdAA (D) HHAATIdA

Subtense bar is an instrument used for

A) levelling

B) measurement of horizontal distances in plane areas

C) measurement of horizontal distances in undulated areas
D) measurement of angles

TR Teh I9HL0T 2 Feent 39 gid1 2
(A) Tl i (B) wHaet &l H st gt wro &
(C) wifm g d Afsighmmd (D) s

If the intercept on a vertical staff is observed as 0.75 m, from tacheometer,
the horizontal distance between tacheometer and staff station is

% I 3L (.75 m 3TIeiTehd fohdT =T a1 SfenaiHiet

qUT R I 6 7 &ifs gl & -
(A) 7.50 m (B) 25m (C) 50m (D) 75m
The age of a tree can be known by examining - .
A; cambium layer 2Bg annular rings
C medulla%r rays D) heart woo
% qleror § foRet 9&1 it 31T T T ST Tohal

(A) HfeEm R (B) aifsae@  (C) Agerl fvton (D) B g%

The initial setting time for ordinary Portland cement as per IS specifications
should not be less than . ' .
(A) 10 minutes (B) 30 minutes (C) 60 minutes (D) 600 minutes

IS % ITTEY FIUR Gcivg Hinwe & fou mifires afdn awe f & 1
TE ET =TT -

(A) 10 e (B) 30 fae (C) 60 firre (D) 600 fire

The type of arch generally constructed over a wooden lintel or over a flat
arch for the purpose of carrying the load of the wall above is

A) segmental arch B) pointed arch
C) relieving arch D) flat arch

TS oh Tl o HW AT TohHl TIe 3T & HW R T R 379 W I8
o b 3239 W T a1 |

(A) U@ AE (B) AheR AN (C) Tem® 3= (D) =9e 3=
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81.

82.

83.

84.

8S.

86.

87.

88.

The type of roof suitable in plains where rainfall is meagre and temperature
is high is —

(A) pitched and sloping roof (B) flat roof

(C) shell roof (D) None of these

37 AT | S|l a9l 3769 Bt 8 94T QIHH 39 T8dT & ©d I U ThR 8 :
(A) =g qen g &a (B) HUTe &

(C) e o (D) 378 & 13 T

The maximum number of steps in a flight should generally be restricted to
(A) 10 (B) 12 (C) 18 (D) no limit
FATSS | TSI bl Tferehan &A1 ! gra=ad: Hiftd @ S =nfey

(A) 10 (B) 12 (C) 18 (D) IS Hiur &

The walls which are necessary on the up hill side of roadway where earth
has to be retained from slipping is known as

(A) retamingwall (B) breastwall (C) parapet wall (D) None of these
TEHh AT o I TBTS! hl 3R ATvh <IaTeli ol &l YfH I Tgei & TehAT Bl
@ el ST 7 .

(A) e (B) sfiedam (C) Wueda (D) 98 & &I3 781

The portion of the road for high speed vehicles is known as —

(A) Motorway (B) Express way
(C) Carriage way (D) Both (A) and (B)
5l TTfd A&l o TeTU U 3T | hgeTdl 2 -

(A) "e-d (B) wHEyE-d  (C) H-d (D) (A)T(B)aH
The portion of the road surface which is used by the vehicular traffic is
known as

(A) Carriage way(B) Shoulder (C) Express way (D) All of these
AT b ATATATA o T S TS Tqg ol YT HEaTdl & :

(A) H&-9 (B) IMest (C) wwyE-a (D) y&eft

Name the x-drainage structure where canal passes above the natural drain

(A) Aqueduct (B) Super passage

(C)_ Level-crossing (D) Inlet and Outlet

X-ZIS G 1 ATH ST&T TTehfcieh g7 o HIL H T&L AT & -

(A) THER (B) W I&S

(C) wIaet ST (D) TSI GR AT FHehrd gR
Land acquisition plans are drawn to a scale of

V- TTUEUT ASHISTT T TR i T U &

(A) 1:2000  (B) 1:10,000 (C) 1:25000 (D) 1:50,000
The trunk of tree left after cutting all the branches is known as

(A) log (B) batten (C) plank (D) baulk’

3 &1 1 1 ST I ARG <l Hle o HTe A Sl &, heetrdl 8

(A) @ (AM) (B) oA (C) =i (D) ek
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89.

90.

91.

92.

93.

94.

9s.

96.

97.

A first class brick when immersed in cold water for 24 hours should not
absorb water more than

Teh 9o A0t hl 92 <1 9o 3 U1 H 24 B < for gairen wn f & sferes urht
el 9rE Afe

(A) 15% (B) 20% (©) 22% (D) 25%

Which of the following is the purest form of iron ? '

(A) Cast iron (B)  Wrought iron(C) Mild steel (D) High carbon steel

T T § !9 |1 CIg o1 JAGaT ®U & 7
(A) cEatdEr  (B) freafemar  (C) yg&m™ (D) 3 HeH LI

Expansion Jomts in masontry walls are pr0V1ded in wall lengths greater than —

T 9 srfres Sar i T=TE % fu TER S w1 Trey™ TSR SR | TR S

(A) 10 m (B) 20m (C) 30m (D) 40m

RL of a factory floor is 30.00 m. Staff reading on floor is 1.540 m and the
staff reading when the staff is held inverted with bottom touching the beam
of the roof truss is 3.888 m. Find the RL of the beam —

(A) 40250m  (B) 35428m _ (C) 32.582m (D) None of these

AR T RL 30.00 m & | Tl T &% U131 1.540 m & a1 Jd ©Ih
ﬁwwﬁmﬁmw%%wﬁﬁémﬁﬁﬁaﬁwﬁmﬁﬁ V%

%1 IT3ATeh 3.888 m B | 1 & RL fAehiferu | ’
(A) 40250m  (B) 35.428m (C) 32.582m (D) W ¥ g &l
Tangent clinometer is used mostly with —

(Ag Compass survey B Chain survey
C) Tacheometry Plane table survey
3SiC FATSHIHIE ST ST §geT ToharT ST %
(A) HHHE Td & qTY (B) =9 Hd % 1Y
(C) feramdfictt o T (D) & o9 Fd o |1Y
Mean sea level is a —
(A) Benchmark (B) Datum (C) Reduced level (D) None of these
1 FY T & Th -
(A) s 9w (B) <eH (C) @uriddad (D) 8 O His &l
Which method of reducing levels has a complete check on the calculation work ?
A) Rise and fall method (Bf Collimation method
C) Height of instrument None of the above
%l ¥ U sl shi Hl ferfer o1 7T e A qui FRproT B | 7
(A) I 9 9o fafy (B) whiferHe fafy
(C) 3T hHY HeTs (D) ¥ ¥ IS &l
Surface of a still liquid open to atmosphere is —
(A) level ((B orlzontal (C) inclined (D) normal
STt § Gl f@ﬂﬁﬁ
(A) wad (B) e'?r&m (C) A4 (D) ™=
Closely equispaced & parallel contour lines represent —
steep slope (B) gentle slope (C) hill (D) depression

HEAAUSHEN I THIAL THI=

(A) @EEF (B) dAH () WAH (D) TEH
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98. Contour lines across ridge/valley lines are at an angle of

(A) 90° (B) 45° (C) 15° (D) None of these

THeeh/ATE W3 o IR FHIE @Y - Rl T aldl 8 -

(A) 90° (B) 45° (C) 15° (D) 8 O HIs &l
99. The turning of the telescope about its vertical axis in the horizontal plane is

known as

A) transiting gB) swi\nging (C) plunging (D) reversing
ETE UL CATEhIY T IHeh el 78] T EHAT heetld & :
(A) giifem (B) i (C) wafsm (D) T

100. The axis about which the telescope can be revolved in the vertical plane is

known as — '
A) Axis of the telescope B) Axis oflevel tube
C) Vertical axis ~ (D) Horizontal axis
g 31 o W efiehid 1 Hed aeT T YA ST Hehdl & HaaTdl § :
(A) Iei=hId =T A& (B) <9 IFS 1 AL
(C) Ted A (D) &fas 37e

101. The rule which is used to balance the traverse, when the angular
measurements are more precise than linear measurements is

A) Bowditch’s rule B) Transit rule

C) Graphical rule None of the above

D
gﬂ@gﬂaw%ﬁgﬁﬂmﬁﬁwmﬁﬁd%Hﬁ&g&d & | T
(A) e frem (B) T ™@m  (C) I frd (D) 378 € h1s &1

102. Fine adjustment in a theodolite 1s done by — .
%\A; tangent screw gB§, clamping screw

C) focusing screw D) micro screw

NECEE G ELIRISEACRISICIRE B
() g o (B) i =R 7w
(C) @égm (D) H|$9h\| % QRl

103. El}le stadia.marking(sB z;re ér.ladlel on — ©) obi | D) Allofth
eye piece 1aphragm object glass of these
Q%m uﬁ%m TS AT 8

(A) AT (B) SEHE W (C) IMGIH W (D) HIN W
104. The multiplying constant is denoted by —

(A) i (B) i/f (C) ixf (D) None of these
T FRRT g SiTaT B e o g
(A) f/i (B) i/f (C) ixf (D) 8 O His &l

105. The additive constant can be mg\de equal to —
Ik TRAT sl 4 o SO fopar ST aepaT 2 -

(A) 0 (B) 100 (C) 150 (D) 200
106. Length of the curve is equal to
oI5k <hl AETs SO Bld] B -
(A) R tan®?2 (B) 2Rsin%2  (C) mR%180 (D) R (1-cos?/2)
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107.

108.

109.

110.

111.

112.

113.

114.

A simple circular curve is designated by —

(A) degree of the curve (B) radius of the curve
(C) both (D) None of these

Teh GTA glebl‘\ sk fruif@ g g -

(A) a?mr (B) @k &1 == g
(C) i H 3 (D) ¥ I T
The magnitude of super-elevation depends upon —

(A) speed of vehicle (B) radius of curve
(C) both (D) None of these
SR Y T i et 2

(A) 9T&d sl I W (B) @k i B W
(C) 3 GHI W (D) T H Ig TE

A set of curves having centres on the same side of the curve is known as —
(A) reverse curve (B) compound curve
(C) deviation curve (D) serpentine curve

5k oh Ueh Bl % ToIoh &g B1 UH Ish] hl e hgdTdl & :

(A) S @ (B) A ash (C) fraeaass (D) WUHR I
The shape of a boning rod which is used to set out a sewer is —

(A) L-shaped ~ (B) _A-shaped (C) T-shaped (D) I-shaped
T %l T T T I ST TS T HATBR 3

(A) L-3TR (B) A-3®R (C) T-3m®R (D) [-3$R

A window provided on the sloping roof of a building is known as —

(A) dormer window (B) peep window

(©) slggmg window (D) lantern
fereft fafeeT < @] Ba W @t Ragehl el o

(A) sfaeghl (B) fufgeht (C) sefash (D) o=

In ub11c bu11d1n%s the minimum tread width should be —

HIOI\TIHOh fafee™ o die 6l &1 A =1 e il =18y ?

(A) 15cm (B) 20cm (C) 30 cm (D) 40 cm
A king post truss is suitable for spans

(A) less than 4 metres (B) less than 6 metres

(C) between 6 & 9 metres ) more than 9 metres

= o foru fopm e clot{ldqgcrd%?ﬁ%:

(A) 4TI q A (B) 6" ®HH

(C) 689 M= o= (D) 9 "X & i

The highest line of a sloping roof where two opposite slopes meet, is known as —
(A) ridge (B) valley (©) crown (D) zenith
Toreht @Te] B <l I w14 &l W ¢ foafid g1t firerd & shaard! &

(A) Hh (B) Hmt (C) T3 (D) S
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115.

116.

117.

118.

119.

120.

121.

122.

123.

The angular steps for changing direction of the stairs are known as
(A) radial steps (B) anglesteps (C) round steps (D) winders
il bl Tz sl seo & T shivfiy o heaTd 8 -

(A) FEFRT  (B) HURY (C) el (D) dE~ed

The cement sand mortar preferred in load bearing walls is

TR T8k SIaR § e 1 TETAT fST8eh! TTTehdT 2

(A) 1:2 B) 1:6 (C) 1:8 (D) 1:12
The stretcher bond is generally used in _

A; half brick wall gB; one brick wall

gg one and a half brick wall D) columns

o S HHI=Id: JI <hl S B - ’ ’

(A) FE-3Z R H . (B) Th$2 hi e |

(C) U 3R ameft e Sam | (D) Hicwd

The grade of concrete M 200 means that the compressive strength of a
15 cm cube after 28 days would be

M 200 U hshic 1 3R & T 15 cm 9 61 Fdied amwed 28 fedi & qe=md &l
ST

(A) 50kg/cm? (B) 100kg/cm? (C) 150kg/cm? (D) 200 kg/cm?
For concrete roads, the camber usually provided is —

Thhie TSeh o T AT <1 S aTell shFel &
A) 1mn60to11n 72 B) 1mn36to11in48
C) 1in30to11in48 D) 1in20to11n24

The rate of rise or fall of a road alignment is known as —
(A) slope _ (B) camber (C) gradient (D) curvature

TS oh TATSTHE hl SAX-TgTd STHT SITdl
(A) =9H (B) R ¥ (C) Ufstea (D) ka1 &

Hara%pan agricultural economy was mainly based on
ry

EA; farming B; crop rotation _
C) rainfed cultivation D) wheat and associated winter crops
TS hl HY AT &7 9 9 34THa of -

(A) I T (B) PH =7 T '
(C) N @t T (D) g T Hafd Sfdepreii= BEal W
The name Dharmashok was found in the o

A) Maski Edict B) Junagarh Inscription

C) Sarnath Inscription D) Allahabad Pillar Inscription

ElERIRIRCIEIE ’

(A) Hresh i §- (B) TATTE AfverE o ’

(C) IRy Al o (D) SATEETE Ty 3Tfierg o

Which one amongst the following is the oldest dynasty ?

A) Pallava Dynasty B) Chola Dynasty

C) Maurya Dynasty D) Gupta Dynasty

(= | § I 91 INHdH TSl 8 7
(A) Ueeld TNEY (B) W@ TSEY  (C) AR TS (D) T Tsias
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124.

125.

126.

127.

128.

129.

130.

The medieval ruler who was the first to establish a ministry of agriculture was

(A) Alauddin Khilji (B) Sher Shah

(C) Akbar . (D) Mohammad-bin-Tughlaq
HETehTetIH STTEeh S iy HATCT TATTUA i dTelT Tgetl AT :

(A) TA3EN ettt (B) IR

(C) 3T (D) Higwe-fea-qerh
Mughal architecture is known for its

(A) Simplicity (B) Massiveness

(C) Decoration and delicacy (D) None of these
el IRIehell Sl STHT SITT & SEh! -

(A) LR % fetw (B) Tersmretan & fetw
(C) HSlTae 3R TSiehd o foTT (D) 8 O His &l

Which of the following states was first annexed by Lord Dalhousie under
the Doctrine of Lapse ?
(A) Nagpur (B) Jhansi (C) Sambalpur (D) Satara

T T i B T A ATh o (FeU Hifd) & 31efi7 Al Sotaisht o g
g BIHT T T ?
(A) AT (B) =t (C) "I (D) HaW
Which of the following was not one of the factors responsible for the
Moplah rising in 1921 ?
(A) Social disabilities (B) Police excesses

(C) Non-cooperation propaganda (D) None of these
= 59 &E |1 1921 ® 7ider fagig o foe SR e 78 o1 2

(A) \THTRT 1T (B) Yfera st
(C) 3THEIN H T=R (D) 0 U His &l
Who observed “The Congress is in reality a civil war without arms” ?
(A) Lord Dufferin (B) M.A. Jinnah
(C) Sir Syed Ahmad Khan (D) Lord Curzon
feher 318 STaretieh- fohan fob, “Hiie areafashar § uss for s fafoar g 87 7
(A) ©7E SHUA (B) wH.u. =g
(C) WHIC 31eHe T@H (D) <TE ol
On planet earth, there is no centrifugal force at the
EA; Equator ' gB% Tropic of Cancer
C) Tropic of Capricorn D) Poles

92} U W fohdl ST W s 3Teh] 9 a1 & 7 .
(A) @ (B) % @l (C) #Rt@ (D) gdli
Which one of the following does not border Panama ?

A; Costa Rica gB; Pacific Ocean
C) Columbia D) Venezuela

T Y I F U1 <6l S TE T IR 7
(A) d=Ife  (B) J9A HgMER (C) S (D) A-9ue
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131. Which of the following is a cold ocean current ?

(A) Canary current (B) Brazil current
(C) Gulf stream (D) Kuroshio current
= 0 @ i o e S A ey B 2

(A) HH IR (B) FEA g (C) W g (D) FHURRN g/
132. What are Westerlies ?

(A) Permanent winds (B) Seasonal winds
(C) Local winds (D) Variable winds
JEUAST T8 7

(A) @WrRiivas (B) @Efiyed (C) WHE YA (D) UNEd- T 9o

133. Which one of the following countries is the leading producer of Uranium ?

(A) Russia (B) France (C) Canada (D) Australia

ﬁmﬁﬁﬁqm%{ﬁ%ﬁm%mﬁ 7 ?

(A) TRr (B) % (C) =TSl (D) 3T
134. Which one of the following forest resources are animal products ?

(A) Fibres (B) Gums (C) Lac (D) Spices

=1 5 9 1 | 59 -5H1eH o -3cg 8 7

(A) HER (B) Tig (C) &= (D) wET
135. The hill station of Coonoor is located in which of the following states ?

(A) Bihar (B) Uttarakhand

(C) Jammu & Kashmir (D) Tamil Nadu

PR B A RIF A A A TR TSI 0 8 ?

(A) TR (B) 3IWrEUS

(C) SH 3 HTHR (D) dfHeHTg
136. Which one of the following lakes in India has the highest water salinity ?

(A) Dal (B) Chllka (C) Wular (D) Sambhar

1 U 9 Torg T YR et § S=ad ST AuTdT 8 ?

(A) = (B) faeem (C) IR (D) |
137. In Thar region, the shifting sand dunes are locally known as

(A) Dhrian (B) Daurs (C) Dhoros (D) Dhaya

IR e | fereenoi aire] A3t bl T a0 ST ST 8 7

(A) Taam (B) &3 (C) 4= (D) T
138. What is the characteristics feature of Narmada valley ?

(A) Volcanic origin (B) Structural origin

(C) Glacial origin (D) Aeolian origin

Frfremeriores oA = 8 ¢
(A) SSTAHEH 3 (B) EEHATHS Icd
(C) feme 3eufa (D) wehferem et
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139.

140.

141.

142.

143.

144.

If there is a vacancy in the offices of both President and Vice-President, who
has been empowered to function as President ?

(A) Chief Justice of India

(B) Chief of Army Staff

(C) A person appointed by Parliament

(D) None of these

Ffe Tsgufa 3T Iurseufd gl ug fiaa 81 ST ot Usedfd o Ug o1 ShRIVR 987
T fHa § 7

(A) YT = &I =AR=Tehs (B) ¥ VI & 9@

(C) Tgg = g e &b1g =afad (D) 0 O His &l

Which one of the following bills must be passed by each house of the Indian
Parliament separately, by special majority ?

(A) Ordinary Bill (B) Money Bill

(C) Finance Bill (D) Constitution Amendment Bill
= 1 9 %F @1 fadus aRd™ S99 W gHl Hedl g gUsh-Jos &9 ¥ fafirse
SEAT b MY I ARG T3l STHT STTa9aeh & 7

(A) G fererreh (B) o+ fage
(ORMESAECRED (D) dfa™ Fenes foeereh
Who is the legal advisor of the State Government ?

(A) Public Prosecutor (B) Solicitor General
(C) Advocate General (D) Attorney General
TSI TR T (1Y TATGHR i § 7

(A) ufsctsn MfEeRIeT (B) @feAfet sTe

(C) TSdlehe ST (D) WIHI Iet

In which one of the following schedules of the Constitution of India is
Urban Local Self-Government mentioned ?

(A) Seventh (B) _ Eighth (C) Eleventh (D) Twelfth
ﬂT{?%ﬂHﬁWﬁﬁﬂﬁ@ﬁmWﬁmWw—auw EalITUICRED]
e ?

(A) gradi (B) e (C) =gl (D) S REdl

Human development as the core of all developmental efforts was recognized
by which five year plan ?

(A) Fifth (B) Eighth (C) Tenth ~ (D) Eleventh
%&rlﬁﬁrﬁﬂ ST o6 gRT A forehtd ol T} Toreh™a S=TET <61 IR 7HT =T 7
(A) Tt (B) 3rad (C) <well (D) e
The headquarters of World Bank is situated at
A; Washington DC gB; New York
C) Manila D) Geneva
Sieh 1 G fRIa & -

(A) SR DCH (B) —Afeh | (C) " (D) e d
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145.

146.

147.

148.

149.

150.

151.

152.

153.

Companies pay corporation tax on their

(A) Investments (B) Incomes gg%; Production (D) Sales Proceeds
HITT BTN - BT YA ! &,

(A) FRmiw (B) 3™ W (C) IR (D) forsha wfeeai @

‘World Investment Report’ is published by which of the following ?

(A) WTO (B) GATT (C) UNCTAD (D) None of these
“Torga Tt wfcrega” e § & fohdeh gTn Srepifra feperm STaT 2 7

(A) WTO (B) GATT (C) UNCTAD (D) s O ls &l

‘SONAR’ is mostly used by
(A) Doctors (B) Engineers (C) Astronauts (D) Navigators
HHR (SONAR) SATershierd: T fohan Smar 2 -

(A) STl & g (B) ARmEaTa g

(C) AafeFtra gra (D) Afemex g

Which one among the following rays has minimum wavelength ?
(A) Cosmic rays (B) Gamma rays

(C) X-rays (D) Ultra-violet rays

71 5 9 fobe fortoni 1 STedqam qiTeed it & ¢

(A) =iftare fhtar (B) i feear (C) X-forear (D) W& femor

Which one of the following is not responsible for the global warming ?

A; Carbon dioxide ng Methane
C) Chloroflurocarbons D) Slacked lime
Y 7 TSt ST o fore fmigr T2t & 2
(A) IS STEITFTES (B) oM
(C) FARIFAITRIHIEA (D) &I
Silicon Carbide (SiC) is known as
(A) Corundum (B) Quartz (C) Tridynite (D) Carborundum

RfeTeria haTEe (SiC) STHT ST 3 ’

(A) BT  (B) FWAH (C) TIEERATEC® (D) HERSH I
Which one among the following is the commonest amino acid in nature ?
A) Glycine B) Alanine

C) Phenylalanine . D) Aspartic acid

"1 § § S |1 Jhid § IR ST STl Teh HHTIH THAT 377 & 7

(A) TARIEHR (B) TeiHdF (C) ToTEa TerH= (D) weTiéeh 3wt

Which among the following hormones is known as the emergency hormone ?
LA) Thyrgxme ~¢(B) Oxytocin (C) Vasopressin (D) Adrenaline
(= H § I 91 ST SHSH] gTHE 8 STHT ST 8 7

(A) 9if@Es  (B) SR (C) J@dfEd (D) TgAleH

Which of the following vectors spreads the kala-azar in human beings ?

(A) _Mosquito R(B) \Sand fly ©) House fly (D) None of these
aqHat § = 1 ¥ IF 91 WTETgsh SHiell- 319K et § 7

(A) T=H (B) d=wad  (C) W EHE! (D) 34 9 [ a8l
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154.

155.

156.

157.

158.

159.

The vestigial organ, vermiform appendix found in human beings is a part of

(A) small intestine (B) large intestine
(C) stomach (D) rectum
e H U1 S el SR I3Tel 3T, THiwH wuf-ged, Teh 3 3 -

(A) BAJM@H (B) S AMH  (C) JIERA S (D) &H

Which Indian — American personality has been appointed as the interim
judge to a U.S. Civil Court of New York city ?

(A) Jeeva Singh (B) Deepa Ambedkar

(C) Priyanka Jain (D) Krishna Kaur

fore et — aﬁﬁﬁwﬁ-ﬁﬁﬁg@rwmﬁq\m fafaet = ° stafm
EIRICINE R R eI K

(A) Shar fag (B) EH1 e (C) BRHISH (D) FHR

Google.org has granted how much amount of fund for teacher training and
educational content creation in India ?

(A) $2.5 million (B) $ 4.0 million (C) $ 3.5 million (D) $ 3.0 million
Tglﬁgﬂg = fomart T wRa o fregen wireqor qen Sreafureh fosrasg < goid & fo1g
UL 7

(A) $2.5fam (B) $4.0fafemm (©) $3.5ffemm (D) § 3.0 Wferm
Which Indian boxer has been conferred with the WBC Asia Boxer of the
year Award ?

(A) Neeraj Goyal (B) Shiva Thapa
©) Neerav Tomar (D) Vijender Smgh
I T WA HaFohalTsl ol 9N o Sae3 off € (WBC) TR HehaTsl 3l TATS &

P e ?
(A) @M (B) ferym () flmam (D) faex fag

Keyur Bhushan, the well-known Gandhian & freedom fighter has passed
away recently, belonged to which state ?
(A) Madhya Pradesh (B) Chhattisgarh
(C) Uttar Pradesh (D) Jharkhand
N M) qum ST S L Y901 %1 81 & H Hed 33T & | o fopm
T Hald @ ?
(A) FEYe®  (B) BuEm@  (C) SWYT (D) INEE
A man said to a lady, “Your mother’s husband’s sister is my aunt”. How is
the lady related to the man ?
(A) Daughter (B) Grand daughter
(C) Mother (D) Sister
7 Toreft A @ et — “grer) wiar & afa A 5E 7 g3 B, 98 Aigen
fope Tey A TEfa g 2
(A) oh (B) i (C) (D) &
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

IfA=1, ACE=09 then ART=7?

(A) 10 (B) 29 (C) 38 (D) 39
Il A=1,ACE=9d9 ART =?

(A) 10 (B) 29 (C) 38 (D) 39
The first woman speaker of Himachal Pradesh Vidhan Sabha was
(A) Vidya Stokes (B) Leela Seth

(C) Sheela Kaul (D) Rajkumari Amrit Kaur
fewmerer wigwt faraman shi yem Afger Tt of -

(A) fen=wi®E (B) wfends (C) Mm@ (D) TSHHAN 3d HR
Shipki La Pass in Himachal Pradesh is located in which district ?

(A) Kinnaur (B) Lahaul & Spiti

(C) Kullu (D) Chamba

ot o ot femmaet wewm # forwt ot o srafRmd 2 7

(A) TR (B) wmEa-ffkd (C) Feel (D) ==

‘The Lady of Keylong’ is a

(A) hotspring (B) glacier (C) lake (D) river
G SN 3% hAN & Th

(A) TIH U ST | (B) feme

(C) 3w (D) T

Pong Dam is constructed on which river in Himachal Pradesh ?

(A) Satlyj (B) Chenab (C) Ravi (D) Beas
ainT st feaTeer yew i fohd T WA T 8 7

(A) Fags (B) Tt (C) TR (D) =&
Antonym of the word ‘Dexterous’ is

(A) courageous (B) dumb (C) clumsy (D) empty
Such an action is not consistent his character.

(A) to (B) for (C) with (D) upto
Meaning of the idiom ‘Tied to the apron strings of” is

(A) be independent (B) to be dominated by

(C) to live together (D) to fall in love with
FUfd’ § 99 8

(A) s (B) &% (C) T (D) wgshfe
ERSEREIREN L B

(A) d9rdfass  (B) o (C) ar&fellss (D) dT&ih
‘yrTew 1 A B

(A) &9 + I (B) T+ 3W (C) &: +<x (D) g9 + <
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